=10™ =
g 2
> 3
o 2
5 5107
1072 HE;
1072
.910—3_ 4 ! L ..! L .......! L .910—3
E 41 +A s : """" i e E 1
x i e + o o
ot :
0.5 +++* ----------------------------- p--- -
1 D . :
10 1 10 t102 - 10°
TPp_ (PCA to'beamline
T

—=— DQMstep3_SoftQCD_CKF

—e— DQMstep3_SoftQCD_default

—— DQMstep3_SoftQCD_defaultNEWT3
= £
2 e
> 3
> i o
5 T R fobeeeee ©

Ratio

o p/p.)

- E' ¥ T

E **0- o :4« :
o : l .2 3
10 ! TPlp?T (PCA t%obeamliné'p

2 e ] L ]
152 Fogoeo L
08;' """" 4 "é" For B
I.] +
H -j-.’ . -’
0_6.. T L A I T T
—1 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o

rl -

4 -




	Contents
	Page 1


